Amplitude

2. (a) What H(s) corresponds to the Bode N T T
magmtude plot (units dB vs rad/s) to the (‘M(\‘)
) I Nt .
: 40
I(;OO S R i
) 30 : !
S(k‘a'ri 0\\90\/0/ 2% TM(S (\P r,)w(,lus o =
W

20 M/cf—u o yvNJUL f«v’e.o, I S N

AT N

M l/\,u’/l/\ \\/\17 wey S/((TX ty (90(18/&@@,11 \ Poil ) \ Able pﬂlB
G0 2 wiors gw(Q} S’\Wf PXA)(MM 2@’0le5 m% w»ﬂ#(w@o (l/w/k QB
GHW\ oA oW v Sﬁ% M ) 'LM_? za[hme YUdR oof

o ((whine ¢ vy wilhe shrpto 2008, 4 ~60d%/fs,
M>)go W 5

Ky = 1600 (20) (200>
B (S—\r~20\(57’4" %%054—(200)’f)

q
[.28 x| 0
T (s+20) (¢ Hos + Hi0D

(b) What is H(s) for a Butterworth high pass filter with unity gain in the passband, a cérner frequency of 5x10* rad/s
and a gain of less than -60dB for @ < 10* rad’s. (8)
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